Math 90, Worksheet #1


APPLICATIONS USING SYSTEMS OF EQUATIONS

Basketball Problem
In a recent home game, Bob scored 16 points on a combination of 7 two- and three-point baskets.  How many baskets of each type of shot did Bob make?

Ticket Problem
A 3-day “passport” to Disneyland cost $86 for adults and $65 for children.  A tour group of 23 individuals paid a total of $1684 for their passports.  How many adults and how many children are in the tour group?

Total Cost Problem: Number of pounds ( Price per pound = Total Cost of Mixture

The Nutty professor sells cashews for $9.00 per pound and Brazil nuts for $8.00 per pound.  How much of each type should be used to make a 10-lb mixture that sells for $8.40 per pound?

	
	Number of pounds
	Price per pound
	Cost of nuts

	Cashew
	
	
	

	Brazil
	
	
	

	Combined nut mixture
	
	
	


Mixture Problem: Amount solution ( % concentration = Amount pure

Clear Shine window cleaner is 12% alcohol and Sunstream window cleaner is 30% alcohol.  How much of each should be used to make 90oz of a cleaner that is 20% alcohol?
	
	Amount of solution (in oz)
	Percent alcohol
	Amount of alcohol

	Clear Shine
	
	
	

	Sunstream
	
	
	

	Mix of Cleaners
	
	
	


